Adv Alg 2 Week 11 Tuesday Warm-up

Square a binomial

1. (x+3) = (x+3)(x+3)= ( Jré)( +9
2 (-7 = (- E-D = |y 14
3. (x+5}2 =(x+5](x+5)=>(Q’HOX+ 26

Do you see a pattern or a shortcut?
Do 4-6 using the pattern/shortcut.

4.(1.'+4)z = XQTL XXJF /Q

5.:-10) = 700 + /0D

6.(y+2) _yg' r‘%g +d
Working backwards...factoring!

7.8 -125436= (x-7' (X é)

8.2 +8x+16= <>(f47/)

9.x* —30x+225= <X~/6>

i%What do you add to the expression to make it a perfect square?

x +bx+§ﬁ <><+
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Solve by completing the square.

1. x +8x =40
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w+Ud =104 solue hrx



Solve by completing the square.
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Solve by completing the square.
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Solve by completing the square.

4. _2_x_2 + _6_£=_L pke Iel\dfnd coemqén‘f i_ .
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Solve by completing the square.
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